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1 , 1 1 upp. 01.10.2014
Chpwl |2nnuhy thnang, 1 thnnng 1 tpp 01.1014 | 1230 | 300 | 2 20
2 thnnng, 2 thnnng 1 thuly. withuwn 12:00
01.10.2014
C Uwpdupkl 37- 01.10.14 09:30 150 2 41
hpuly |Uwpuiug p1p thnnng withut 09:00
03.10.2014
Znnnd hwdwygupl
Chpwl |Znpnd 03.10.14 09:30 | 450 2 withwwn 09:00 [ 245
wdpnnonipjunlp
ShU
05.10.2014
C Qynud Mn.UL 10 okl 05.10.14 10:30 180 2 45
hputly | %ynudph wlh 10 okup withutn 10:00




05.10.2014

5 C Qnud U. U4k 1131 okl 05.10.14 13:30 210 16
hpwly (Fynuuph Ykwnhujwt 31 okup withun 13:00
08.10.2014
6 C Ud 28 08.10.14 09:30 450 20
hpuly | Unfuuh thnang withun 09:00
10.10.2014
7 C u 1 10.10.14 13:00 240 6
hpuly | Zugluer thnnng withunn 12:45
11.10.2014
8 C Ud 21 11.10.14 09:30 510 8
hpuly | Unfuuh thnnng withunn 09:05
18.10.2014
9 C Utk 4,5,6 ub 18.10.14 09:30 210 15
hpwl | Utnpuwuin thnnngltip withun 09:00
1-ht 19.10.2014
10 | Shpwy |Nneh bt thnnng 19.10.14 | 09:30 | 150 7
1-ht thnnng 3 uppwiigp withwwn 09:00
09.11.2014
11 | Thpuy [¥nudph Unuhwnwuh 1,2 thwlninhkp 09.11.14 11:15 100 2
wihwwn 11:00
Onwann hunfuipl 11.11.2014
12 | Shpwy |9pwanp rmann hmtghe 11.11.14 | 09:30 | 480 whhwn 09:00| 58
wupnnontpjudp
ShU
14.11.2014
13 | T Qnud u 1 1/1wm okl 14.11.14 09:10 180 45
hpuy (Gynudph wtinhyyub /1w pkbp withust 09:00
21.11.2014
14 | T PEuhunlht 18 21.11.14 09:30 450 5
hputy puadh thnnng withwwn 09:00
2 thnnng, 2 thnnngh 1,2,3,4 01.12.2014
15 | Thpuy (Uuyhuywl uppwgpltp, 1,3,4,5,6 01.12.14 09:30 390 wthwwn 09:30 69
thulyninpkp ShU
05.12.2014
16 | T Qnud Puwh u 4p okl 5.12.14 10:00 42 13
hputy |Fnudph uwhwljwi 4p gkup 0 0 withuzt 09:00
08.12.2014
17 | T I u 3 8.12.14 09:30 39 19
hputl | Fuyuitinaip thnnng 0 0 withun 09:00
14.12.2014
18 | Thpuwy [Uwpduwoku 3,5 thnnngutp 14.12.14 09:30 210 wthwwn 09:20 12

ShU




21.12.2014
19 |¢c Qynud Bplwiywb ug. 143 ki 21.12.14 12:20 | 130 2 15
hputy |%ynudph plwlywl fu 2kup wihun 12:00

Uuh pun. U.Jvusunpui 25 24.12.2014
2 | T Qynud 24.12.14 09:30 | 300 2 8
hpul |Sgnudph oklp withun 09:00
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2. Ugyniuwljh 8-py ynttwlnud jpugynid k 1, tpt wjubuwghtt woowwnwip k, 2 - Jpupuyhtt woptwwnwtp k, 3 - oph npuljh oinmud k, 4 - wy) punypeh b




